Name: 
I can choose an appropriate unit of measure.
Choose an appropriate unit of measure for each of the objects in the pictures
Choose from mm 	(millimetres)
		cm 	(centimetres)
		m 	(metres)
		km 	(kilometres) 

	[image: http://tbn0.google.com/images?q=tbn:jV4s1IGTxCjlMM:http://www.woodlands-junior.kent.sch.uk/customs/questions/images/money/5p.gif]
5p coin 

	[image: http://tbn0.google.com/images?q=tbn:98OwBE0-icyCNM:http://www.badcarcredit.co.uk/images/bad%2520car%2520credit%2520golf.jpg]
a car 


	[image: http://tbn0.google.com/images?q=tbn:G3kwfZa_oeMdWM:http://www.farlowstudios.com/images/arm/arm01.jpg]
arm




	[image: http://tbn0.google.com/images?q=tbn:CtJha1gm36LtPM:http://www.cc.gatech.edu/cpl/projects/graphcuttextures/data/interaction/LittleRiver.jpg]

length of a river
	[image: http://tbn0.google.com/images?q=tbn:r8ueg1VN2W-8aM:http://www.cosmosmagazine.com/files/imagecache/news/files/20070903_tallgene.jpg]
your height
	[image: http://tbn0.google.com/images?q=tbn:FrcAy-Liizx-oM:http://www.itraveluk.co.uk/images/maps/england.gif]
England




	[image: http://tbn0.google.com/images?q=tbn:3xMmYui5wT7R9M:http://wings.avkids.com/Curriculums/Tennis/Images/crt_01a.jpg]
a tennis court
	[image: http://tbn0.google.com/images?q=tbn:DTPEYAQFncVRkM:http://www.westminster.gov.uk/environment/rubbishwasteandrecycling/recyclingfacilities/images/stamp.jpg]
a stamp

	[image: http://tbn0.google.com/images?q=tbn:f7gnQd1pW3rf6M:http://media.canada.com/07594e89-b6a2-4c43-823c-507cf9085fdd/0517-sexed-hand.jpg]
length of hand








I can convert units of measure – Length


Remember: 	10mm = 1cm
		100cm = 1m
		1000m = 1km 

For these questions you will need to convert these larger units of measure into smaller ones by multiplying by 10, 100 or 1000.

	3cm = __________ mm 
	5m = __________ cm

	6km = __________ m 
	54cm = __________ mm 

	5.8km = __________ m 
	13.6cm = __________ mm 

	6.193km = __________ m 
	3.4cm = __________ mm 

	4.56m = __________ cm
	150.953km = __________ m 




For these questions you will need to convert these smaller units of measure into larger ones by dividing by 10, 100 or 1000. 

	30mm = _________ cm 
	400cm = _________ m 

	9000m = __________ km 
	540mm = _________ cm 

	5500m = _________ km
	4650m = _________ km 

	656cm = _________ m 
	75mm = __________ cm 

	1122cm = _________ m 
	356mm = _________ cm
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Remember: 	10mm = 1cm
		100cm = 1m
		1000m = 1km 

Think carefully about whether you need to multiply or divide by 10, 100 or 1000 for each question: 

	3cm = __________ mm 
	5m = __________ cm

	6km = __________ m 
	54cm = __________ mm 

	5.8km = __________ m 
	13.6cm = __________ mm 

	6.193km = __________ m 
	3.4cm = __________ mm 

	4.56m = __________ cm
	150.953km = __________ m 

	30mm = _________ cm 
	400cm = _________ m 

	9000m = __________ km 
	540mm = _________ cm 

	5500m = _________ km
	4650m = _________ km 

	656cm = _________ m 
	75mm = __________ cm 

	1122cm = _________ m 
	356mm = _________ cm





How many m are there in 1.459km?

How many mm are there in 1.5cm?

How many m are there in 546cm?

How many cm are there in 1.29m?

How many cm are there in 656mm?

How many km in 600m?

How many km in 15798m? 

How many mm are there in 125cm? 
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